Condutimal Expectnlim (C[m/ﬂcr 5,7,2,)

@ G on obsernd \/aM ot 2
what Y b(\/

hWo an
L fﬂ“p CB’@ Ay jf,,mdjmff

Cown\d 6\:\/3\' a0 well
5\7 /)4> 3(%) o, Sarw X

® wd v E(YIX) 7 = g )

fvd a0 0 a ranlan  vaviably, Sml
¥ o oo romdom vanable

90 W cah e 1\1 eXV@C}(N \/al/lk_ "Do

t’( 1:\/ XB> j [ g (j\/):)&j f(yjcﬁ(

s rt
wrt W ﬂ CJ JAQW(%)&MJ

w0 W

- | sty = B



So W) = E [ Ely|x)) law ot
ELEU)
= B Cy (\/\XD -Q)(Ye_c}m'tmnlf

Aylso Ek \/\b/)) = E, Q e, (WD) XD
« ELY) - E (e (\/kbﬂ)
Thio S exWM ?OMer

e “«mm’n‘md" ocWWacfn To com)oth £Ly):

wf\/ LS\OCJ
?x (')6 gw\l«\\\‘{\\q ! }ﬂjreﬂmtzﬂ \\f\{-@m{:&)

\A§inﬂ '\“‘r?/m\‘td QX\OC(’/J\'aVM T Cd}’VlfMtQ/ E(W

A me
¥y(3\7<) i ﬁ(V{X)

fi () ﬂm’u%xbg(y)

\T Y condiliowd o X o & Ccammon RV
dab ; Sowy, exPov\eVlel) Hon Hu Top
MMMJV\OW bQC(VVIQS ’S‘V\.V“aﬂr



Example o wlm1 Herated e,xpu:‘}ﬁﬁovb e
/ So POWM-M’

Let X be uw form o Zo/\J
Leb Y be uniform  om [:o/x}
what o ELY)?

[
method | (He slow WOW))

Lxg |
) - % e Pt Hhe
° Pmé[w(
cy ) = § vy Satement
/ VS 1 o Q,\Se_
\olnt PO\Q |
> e B2yLXS]
\ny (7,\3) = 817 (j\/;c%g(bc) = f J
Y O 2,\‘5&
“K ‘ RoS
/M v_g _ny
—
‘( x o \
warget 539 = [y Loy = [ 2
w \ 3
= X \ = _}MK {5/ 0434[
3D

” = \/f-} (d@ﬁm[& om]fkd’)



Meed 2 werﬁ ermted {Xpufmdf\m'

£y Y
el Yix) = £ i \7
Yeca ML o f é’ ';C/z_ ’\76

JYNRON 0% o un) form RV CO/Y}Q) ¥/

E L EWIX>> = E(X/a) = < €lx)

SRR
becawar e mean of X w Y2
b doa o wni Bom @Y o [o1]



Prother  examp o ol valed  expedaltono

X omd VALY %,W\L,’ dictn b fed
m WMage fomd by (00), (L), (o)

whaat v B(X)?
b Steps:

— oS
2) Find fy (ly)
D(°f9 b) Compule E(XJJJ
' ' <) Compute E X)

B

\
/ ¥ =EleWdy))

o) We g amd Scale
Tor & %\\ﬂbv\ \3 X 0 WHS‘WM m ﬁs/}i\j].

qu \¥‘5> = % l'j 05765,7 %,fjsl

2\Se_
b> Etx\_j) = 1Y be cowaa_ X‘\% 10 wwtl{:‘”m
D Elx) = (] V) _ ’—li i Ec>’)
Bub by symmily, we can M@D Sow) Hat

E(x)=EWY)

Conbining,  EU)-4-2 EU/Y[’;(X)%



